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It is very important to study
Norton's theorem.

Also to study how apply the

three step to the save theorem .
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e Definition Norton's theorem .
How we find the current at each
resistance in the net work by the
above theorem .

N







il Gl aves by Al paidll 3 pla & Short circuit :
0555 Lga slia A Ol (g Le Aa glia 3 gan g pmd Ay ygSI) 330l
) ja

aled Yla Lgta glaa (85 Al A giaall 3 300l & Open circuit
R TO-RY PR P g DN g Wi D




shown

4 Ohm Bl = QEIA
2 Ohm —L—
m— R
-




* g

4 COhrm QEA

Is.c. P T
- =
1,=16/4 =4A 8-1.-1..=0 (K.cL)
then; I =4A = |

4 COhrm




R\ =(4x4)/ 8= 2Q

In I\ =(4x2)/(2+2)=2A
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For the cct. Shown find
(I, .1eq) USing Norton's theorem
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3 Ohm
o YA

RN=3x8/11=24/11=2.18Q

| =+, 1,=72/8=9A

|, =18/3=6A :.Ish=15A
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I 218 Ohm RL

IL=(15x2.18)/(2.18+6)=4A




